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January 2016
Core Mathematics C12

Mark Scheme
Question
Number Scheme Marks
1(a) u,=2x2-6=-2, U, =2x(-2)—6=-10 or u;=2x2x2-6)-6=-10 M1 Al
(2]
(b) :
D u, =2+(-2)+(-10) MI
i=1
+(—=26) Alft
=-36 Al
[3]
S marks
Notes
(a) M1: Attempt to use the given formula correctly at least once. This may be implied by a correct value for

u, or a value for u, which follows through from their u, or implied by correct answer for u,

Al: u,correct and no incorrect work seen

(b)

M1: Uses sum of the 3 numerical terms from part (a) (may be implied by correct answer for their terms).
Attempting to sum an AP here is MO.

Alft: obtains u, correctly (may be attempted in part (a)) and adds to sum of the first three terms from part

(a)
Al: =36 cao (—36 implies both A marks)

Special Cases:
Some candidates attempt u, +u, +u, +u;in part (b) — allow M1 only

Some candidates mis-copy one of their terms from part (a) into part (b) — allow M1 only
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2. (i) Given that » 7¢, find the value of a.
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Question
Number Scheme Marks
Way 1: Way 2: Way 3:
. 49
2(i) log—
o8 T
49 72 _1 4+ B 7 B log7 M1
_:T:722 7\/7:715 \/— g
NCAE or
7" = 2 = a=log hed
V7 V1
(a =)1% (oe) or see answer = 7' Al
[2]
(ii) Way 1: Way 2:
10(V18 +4
(18+4) (1532 +20)(+/18 - 4) M1
(VI8 - 4)(/18 +4)
=5 =15v36 — 6032 +20/18 —80 BI
o 5 5 = 90— 60~/2 +60+/2 —80
=5(3v2+4|=15v2+20*% 10 Al
N ( ) ~10s0 =15v2 +20* e50
J18 -4
[3]
5 marks
Notes
@ Way 1: Way 2: Way 3:
M1: Subtracts their powers of 7 M1: Cancels fraction to 7ﬁ Mi: Correct use of logs to obtain a
and adds their powers of 7 correct expression for a
Al: cao (answer only is 2 marks)
Do not allow work with inexact decimals for this mark e.g.
1
49x7 2 =18.52=10g18.52=1.4999... = a =1.5scores M1AO
(ii) Way 1: Way 2:
M1: Multiply numerator and denominator by M1: Attempts to expand (15 N 20)( J18 - 4) to obtain
V18 +4or equivalent. The statement at least 3 (not necessarily correct) terms
106/@ +4) B1: All 4 terms correct (Must follow M1 — i.e. treat as
\/E 1 \/ﬁ 2 is sufficient but do not Al)
— +
( X \/_ ) A1: Obtains 10 with no errors and \/E = 3\/5 seen or
10(v/18 +4
allow OIS +4) unless missing implied by e.g. 20~/18 = 60v/2 and conclusion that
‘/E - 4(\/E +4) states the given answer i.e. not just 10 = 10
brackets are implied by subsequent work.
B1: Correctly obtains +2 in the denominator
(Must follow M1 —i.e. treat as Al). May be
o 10(+/18 +4)
implied by e.g. ———— 2 =5(/18 + 4
pliedby e.g. =P —==5( )
A1l: Correct result with no errors seen and
\/E = 3\/5 used before their final answer.
Note that for Way 1, correct work leading to
518 +20 followed by 15+/2 + 20 with no
intermediate step would lose the final mark
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Question Scheme
Number Marks
> ([ 2 6x° 2%
[6x—3——jdx=——3x—7+(c) M1 Al Al
J \/; 2 2
k3% ot |
%—3x— a +(c)} =(28) - (-4) =32 M1 Al
L 2 1
[5]
5 marks
Notes
M1: Attempt to integrate original f(x) — at least one power increased x" — x""'
Al: Two of the three terms correct un-simplified or simplified (Constant not required)
Al: All three terms correct un-simplified or simplified (Constant not required)
M1: Substitutes limits 4 and 1 into their ‘changed’ function and subtracts the right way round
Al: 32 cao (32 + cis A0)
The question requires the use of calculus so a correct answer only scores no marks)
Question
Number Scheme Marks
4. a+3d=30R g(2a+5d):27 M1 Al
a+3d=3 AND g(2a+5d):27 Al
Eliminates one variable to find a or d from 2 equations in ¢ and d dM1
Obtainsa=12 or d=-3 Al
Obtainsa=12 and d= -3 Al
[6]
6 marks
Notes

M1A1: Writes down a correct (possibly un-simplified) equation for 4™ term or for sum of the first 6 terms.
Allow the individual terms to be added for the sume.g. a+a+d+a+2d+a+3d+a+4d+a+5d =27

Alcao: A correct equation for 4™ term and a correct equation for the sum (allow either to be un-simplified)
dM1: Eliminates one variable from two equations in a and d to find either a or d (see note below)

Al: One variable correct (This implies previous M mark)

Al: Both variables correct

Note that if both equations are correct and there is no working and the values of a and d are both incorrect,
this scores dMO. Also if either or both equations is/are incorrect and values of @ and d are obtained with no
working this also scores dMO.




Winter 2016 www.mystudybro.com Mathematics C12

e Past Paper This resource was created and owned by Pearson Edexcel WMAO1
( LeaveN
blank
4. The 4™ term of an arithmetic sequence is 3 and the sum of the first 6 terms is 27
Find the first term and the common difference of this sequence.
(6)
\_ _
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Question Scheme
Number Marks
> ([ 2 6x° 2%
[6x—3——jdx=——3x—7+(c) M1 Al Al
J \/; 2 2
k3% ot |
%—3x— a +(c)} =(28) - (-4) =32 M1 Al
L 2 1
[5]
5 marks
Notes
M1: Attempt to integrate original f(x) — at least one power increased x" — x""'
Al: Two of the three terms correct un-simplified or simplified (Constant not required)
Al: All three terms correct un-simplified or simplified (Constant not required)
M1: Substitutes limits 4 and 1 into their ‘changed’ function and subtracts the right way round
Al: 32 cao (32 + cis A0)
The question requires the use of calculus so a correct answer only scores no marks)
Question
Number Scheme Marks
4. a+3d=30R g(2a+5d):27 M1 Al
a+3d=3 AND g(2a+5d):27 Al
Eliminates one variable to find a or d from 2 equations in ¢ and d dM1
Obtainsa=12 or d=-3 Al
Obtainsa=12 and d= -3 Al
[6]
6 marks
Notes

M1A1: Writes down a correct (possibly un-simplified) equation for 4™ term or for sum of the first 6 terms.
Allow the individual terms to be added for the sume.g. a+a+d+a+2d+a+3d+a+4d+a+5d =27

Alcao: A correct equation for 4™ term and a correct equation for the sum (allow either to be un-simplified)
dM1: Eliminates one variable from two equations in a and d to find either a or d (see note below)

Al: One variable correct (This implies previous M mark)

Al: Both variables correct

Note that if both equations are correct and there is no working and the values of a and d are both incorrect,
this scores dMO. Also if either or both equations is/are incorrect and values of @ and d are obtained with no
working this also scores dMO.
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number

Scheme Marks

3(a)

Sketch of a positive sine curve- passing
through O with at least one complete cycle
from O. Condone different amplitudes above
and below the x-axis.

B1

Mathematics C12
WMAO1

Correct shape with one and a half cycles as

shown (from O to 3£ ) and crossing the x— Bl

axis at % and 7

(b)

— |~ N

T
— X —

l(£—£)=l(0.261....)
2l6 12) 2

Uses

Bl
1
May be implied by use of e.g. Eh =

- {(0+1)+2(0.5+0.866)] M1

0.4885176576... awrt 0.49 Al

[3]

5 marks

Notes

(@

Notes as above
B1: Correct shape with positive gradient through O
B1: Need not see endpoints labelled. Ignore any part of the curve to the left of the origin but if the

3T”must be labelled on the diagram. Labels for % and

7 may be on the diagram or in the text but not just in a table of values and must be in radians not

degrees. (Allow awrt 1.57 and 3.14)
The amplitudes must not be significantly different above and below the x-axis.

curve extends beyond x = 3T”then then x =

(b)

B1: Need ' of zorto see ior 15 0f0.261....
12 24

M1: requires first bracket to contain first plus last values and second bracket to include no
additional values from the two in the table.

If values used in brackets are x values instead of y values this scores MO.

A1l: for awrt 0.49

Separate trapezia may be used: B1 for % and M1 for 2h(a + b) used 3 times

Special Case: Bracketing mistake: i.e. £ (0+1)+ 2(0.5 + 0.866) (= 2.86...)

scores B1 M1 A0 unless the final answer implies that the calculation has been done correctly (then
full marks can be given).
Need to see trapezium rule used so answer only (with no working) is 0/3
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6. f(x) = x* + x> —12x - 18
(a) Use the factor theorem to show that (x + 3) is a factor of f(x).
(2)
(b) Factorise f(x).
(2)
(c) Hence find exact values for all the solutions of the equation f(x) =0
3)
. 4
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Question Scheme
Number Marks
6. for)y=x+x>— 12x — 18
(a)
Attempts f(£3) Ml
{f(-3)=} 0 so (x+ 3)is a factor of f(x). Al
(2]
(b) 3,0 _ 2
X +x —12x-18=(x+3)(x" +... M1
¥ 4+x"—12x—18=(x+3)(x* —=2x—6)
s Al
or ¥’ +x* —12x—18 = (x+3)(x =1 +/7)(x—1-~/7) 0e
(2]
© (x=) —3 Bl
2++4+24
x=22 T 17 or by completion of square (x—1)>=7 so x= 1£+/7
2 M1 Al
or (x—1+\/7)(x—l—x/7)=0:> x=1+7
(3]
7 marks
Notes
(a) M1: As on scheme — must use the factor theorem
Al: for seeing 0 and conclusion which may be in a preamble and may be minimal e.g. QED, proven, true,
tick etc.
There must be no obvious errors but need to see at least (—3)3 + (—3)2 -12 (—3) —18 =0 for Al but allow
invisible brackets e.g. —3° + -3 —12 (—3) —18 =0 provided there are no obvious errors.
(b) M1.: Uses (x + 3) as a factor and obtains correct first term of quadratic factor by division or any other
method e.g. comparing coefficients or finding roots and factorising
Al : Correct quadraticand writes (x +3)(x* —2x —6)or (x +3)(x —1+ xﬁ)(x -1- \/7) oe
Note that this work may be done in part (a) and the result re-stated here.
(c) B1: States —3

M1: Method for finding their roots. Allow the usual rules applied to their quadratic. This mark is for
finding the roots and not for just finding factors. You may need to check their roots if no working is
shown e.g. if they give decimal answers (3.645..., -1.645...)
2++/28
2

Al: need both roots. Correct answer implies M mark. Allow x =

2+4/28
2

If they give extra roots e.g. x =—-3, —1, , lose the final A mark (BIM1AO)
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7. (a) Find the first 4 terms, in ascending powers of x, of the binomial expansion
of (1 + kx)®, where k is a non-zero constant. Give each term in its simplest
form.
4)
Given that the coefficient of x* in this expansion is 1512
(b) find the value of .
3)
\_ _
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Question
Number Scheme Marks
7(a) 8 8 8
(1+k>c)8 =1+(1](kx)+(2 (kx)2+ ; (loc)3 MI
=1+ 8kx, +28k* x>, +56/k°x" + ... Bl, Al, Al
[4]
b . 1512
®) Sets "56k°"=1512and obtains &’ " M1 Al
Sok=3 Al
[3]
7 marks
Notes
(a) M1: The method mark is awarded for an attempt at the Binomial expansion to get the third and/or fourth
term. The correct binomial coefficient needs to be combined with the correct power of x. Ignore bracket
8 8
errors and omission of or incorrect powers of k. Accept any notation for 8C2 or 8C3 , €.8. (2J or (3} or
28 or 56 from Pascal’s triangle.
This mark may be given if no working is shown, but either or both of 28%k*x* and 56k’x” is found.
8
B1: This is for 1 + 8kx and not for just 1+ (J(kx)
Al: is cao and is for 28%k%x* or for 28(kx)’
Al: is cao and is for 56&°x* or for 56(kx)’
Any extra terms in higher powers of x should be ignored.
Allow terms separated by commas or given as a list for all the marks.
(b) MI1: Sets their coefficient of x* =1512and obtains k" = .. where n is 1 or 3
1512
Al: i = 26 or equivalent e.g. 27 (May be implied by their final answer)

Al: k=3 cao (£3 is A0)
Note (b) can be marked independently of part (a) so part (a) might be incorrect or not attempted but
they have 56k° =1512 etc. in (b)
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8. (a) Given that 7sin x = 3 cosx, find the exact value of tan x.

(1)

(b) Hence solve for 0 < 6 < 360°

=3cos(26 + 30°)

7sin(20 + 30°)

6))

1 place.

1ma

to one dec

giving your answers
(Solutions based entirely on graphical or numerical methods are not acceptable.)

20
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Number Scheme Marks
7sinx =3cos x
8(a 3
(@ (tanx =)= Bl
7
[1]
(b) 3
tan(26’+30)=7 Blft
3
tan™"=" () Ml
7
One of @ = awrt 87 or awrt 177 or awrt 267 or awrt 357 Al
Follow through any of their final &'s for 8+ 90n within range Alft
Allof = 86.6, 176.6, 266.6, 356.6 Al
[5]
6 marks
Notes
(a) 3 . . :
B1: (tanx :)7 or exact equivalent so accept recurring decimal (0.428571...) but not rounded answer
(b) B1ft: Correct equation as shown or follow through their value for tan x from part (a). Must be

tan (2(9 + 30) =... but 26 +30 may be implied later by an attempt to subtract 30 and then divide by 2.
If the processing is unclear or incorrect and 26 + 30 is never seen, score BO here.

lnén

3
M1: Finds arctan of their 7 . Could be implied by their value e.g. 23.19.. or just tan~

Al: For one of either @ = awrt 87 or awrt 177 or awrt 267 or awrt 357

Alft: Follow through any of their final answers to which an integer multiple of 90 has been added or
subtracted to give another solution in range but not for adding a multiple of 90 to just a.

Al: For all 4 correct answers to the required accuracy as stated in the scheme. Ignore extra answers
outside range but lose last A mark for extra answers inside range.
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9. The resident population of a city is 130 000 at the end of Year 1
A model predicts that the resident population of the city will increase by 2%
each year, with the populations at the end of each year forming a geometric
sequence.
(a) Show that the predicted resident population at the end of Year 2 is 132 600
1)
(b) Write down the value of the common ratio of the geometric sequence.
1)
The model predicts that Year N will be the first year which will end with the
resident population of the city exceeding 260 000
(c) Show that
log,, 2 L1
log,,1.02
“4)
(d) Find the value of N.
1)
. J
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Number Scheme Marks
9.(a
@) 130000 x(1.02) =132600* or 2% = 2600 and 130000 + 2600 =132600 * Bl
[1]
b
(b) (r=)1.02 B1
(1]
©
Uses 130000 x (1.02)"™" >260000  or 130000 % (1.02)"" = 260000 M1
So (1.02)"" >2 Al

(N -Dlog,,(1.02) >log,,2 or (N -1)log,(1.02)=log,,2

M1
or (N-1)>log,,,2 or (N-1)=log,,,2
log,, 2
>—="—— 1%
log,, (1.02) Aleso
[4]
(d)
[1]
7 marks
Notes
(a) B1: A reason must be provided for this mark as the answer is printed.
Allow both 130000 x (1+ 2% )and 130000 x (102% ) as both give the correct answer when entered this
way on a calculator. But not 130000x1+ 2%
b
(b) B1: For 1.02 oe e.g. allow %
(c) M1: Correct inequality or equality — may use » or their » or 1.02 and may use N or 7.
Al: (1.02)"" >2cao. Allow (1.02)"" >2
M1: Correct use of logs power rule on their previous line which must have come from using the n™ term
of a GP. Condone missing brackets for this mark e.g. N —1log,,(1.02) >log,,2 . (May follow use of =
instead of > or use of r instead of 1.02 or use of N instead of NV - 1). These cases can get MOAOM1. Allow
the base to be absent or just ‘In’ for this mark. If the inequality sign is reversed at this point, still allow the
M1.
Al*: Answer is exactly as printed (including the bases) and all inequality work should be correct and all
previous marks scored and no missing brackets earlier. Allow this mark to score from a correct previous
line provided the power rule is used. So fully correct work leading to
(N =D)log,, (1.02) > log,, 2= N >—2802__ | scores the final MIAT but
log,, (1.02)
log,, 2
(102" >2= N>—2810° | j5cores MOAO (no explicit use of power rule)
log,, (1.02)
(d) B1: Only need N = 37 — may follow trial and error or uses logs to a different base.

Donotallow N>370or N>370orN=37.0
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10. The curve C has equation

(b) Hence find the coordinates of the stationary point on C.
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Question
Number Scheme Marks
s 5
y=12x* ——x*—1000
18
10.(a d 1
@ Yl 10 Ml Al
dx 4 18
(2]
(b) Put 12><%x%—%x=0 so x"=k (neD, k:tO) Ml
Cx=( ) dM1
o x =8l Al
(Ignore X = 0 if given as a second solution)
So y=12(81)F —<(81)*~1000 i.e.y=935 dM1A1
[5]
(© 2 ;
dy__154.5 BIft
dx? 4 9
Substitutes their non-zero x (positive or negative) into their second derivative. M1
Obtains maximum after correctly substituting 81 into correct second derivative to give correct
. . 15 . . .
negative quantity 36 o.e. or decimal e.g. -0.4.... (see note below) and considers negative
sign deducing maximum. Al
. dy 15, 5 5
Note that a correct second derivative followed by x = 81 = o = 181 g -3 = —Etherefore
maximum scores BIM1AO here.
(3]
10 marks
Notes
(@) M1: Attempt to differentiate — power reduced by one x” — x"' (but not just 1000 — 0)
Al: Two correct terms and no extra terms. Terms may be un-simplified.
(b) M1: Puts derivative = 0 and attempts to solve to obtain an equation of the form x" =k where # is real and
k is non-zero
dM1: Correct processing to obtain a value for x. (Dependent on the first method mark). This mark can
1
only be awarded for processing an equation of the form ax* —bx = 0 i.e. their derivative must have the
correct powers of X.
E.g. ax%—bxzozx%(a—bx%):x:k% or ax’—bx=0=> ax' =bx = px = gx* = x=k
Do not allow incorrect squaring e.g. ax' —bx=0= px—gx* =0etc.
Al: cao
d
dM1: Substitutes their positive value for x into y = ... and not into ay =... (Dependent on the first
method mark)
Al: cao
If x = 81 appears from no working following a correct derivative score MIMOAO then allow full recovery.
(c) B1ft: Correct follow through second derivative

M1: Substitutes their non-zero x (positive or negative) into their second derivative.
2

4y _0is Mo

2

Note: Solving

1 1 1
Alcso: Completely correct work (—i o.e.) . Note that o.e. could be =—5><——é or 155 or 5.3
12 4 27 9 108 9 36 9

or -0.4....but it has to be correct for the final mark.
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(a) Find the size of the angle YXZ, giving your answer in radians to
3 significant figures.

(€))

The point 4 lies on the line XY and the point B lies on the line XZ and
AX = BX = 5cm. AB is the arc of a circle with centre X.
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The shaded region S, shown in Figure 1, is bounded by the lines BZ, ZY, YA
and the arc 4B.

Find

(b) the perimeter of the shaded region to 3 significant figures,
C))

(c) the area of the shaded region to 3 significant figures.
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Number Marks
11(a) 16 =10 +12> —2x10x12cos LYXZ M1
2 2 2
cosLYXZzlo 127 -16 or 12 or —0.05 Al
2x10x12 240
ZBOC =1.62(08..) (N.B. 92.87 degrees is A0) Al
[3]
(b) Uses s = 560 with their € from part (a) Ml
awrt 8.1 Al
Perimeter = r&+ 28, = 28 + their arc length Ml
awrt 36.1 Al
[4]
© area of sector =1(5)*0 Blft
area of triangle = %10 x12sin@ (=59.92 or 59.93) Bilft
Area of shaded region = +x10x12sin6 - $(5)’0 =59.9... -20.2... M1
=39.7 (cm?) Al
[4]
(11
marks)
Notes
(a) M1: Uses cosine rule — must be a correct statement
Al: Correct value or correct numerical expression for cos ZYXZ
Al: accept awrt 1.62 and must be seen in part (a) (answer in degrees is A0 (92.865...))
(b) M1: Uses s =56 with their € in radians, or correct formula for degrees if working in degrees
Al: Accept awrt 8.1 (may be implied by their perimeter)
M1: Adds their arc length to 28 or (16 + 7 +5)
Al: Accept awrt 36.1 do not need units (ignore any given)
(¢) B1ft: This formula used with their § in radians or correct formula for degrees

B1ft: Correct formula for area used — may use half base times height (may be implied by a correct answer
(59.9..)))

M1: Subtracts their sector area from their triangle area this way round.

Al: awrt 39.7 — do not need units (ignore any given)

Alternative approach to finding angle YXZ and area of triangle:
Let foot of perpendicular from X to YZbe Wand XW=hand YW =xso WZ=16 — x:

53 34399

B +x* =100, h*+(16-x) =144 = x =§,h i M1: Correct work leading to values of xand /

£LYXZ =sin™ (:—3) +sin™ (i—;} =1.62 Al:Correctexpressionfor £YXZ, Al:awrt 1.62

34399

The B1 for the triangle area in (c) can then score for %x 16 % "T" . Note this is 34/399
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) = (4 +3vx)?

12.

Ax~'+ Bx*+ C, where 4, B, C and k are constants to be

(a) Show that f(x)
determined.

(b) Hence find f'(x).

int

f(x) at the po

(c) Find an equation of the tangent to the curve y

=4

where x

C))

34
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(a) and (b) can be marked together
12(a)
f(x):16+24\/;+9x i
f(x)=16x"+24x " +9 MIAIAl
[4]
(b) f'(x)=—16x2 —12x"} M1 Al
[2]
© Whenx=4, y= 25 B1
12
t'4)=-1-—=-21 M1
8
5
Equation of tangent is ¥ —25= —E(X -4) M1 Al
[4]
10 marks
Notes
(a)

2
M1: expands numerator into a three (or four) term quadratic in \x (allow (\/; ) for x)

M1: Divides at least one term in numerator by x correctly following an attempt at expansion. May just be
16
-

Al: Two correct terms
Al: All terms correct

(b) M1: Evidence of differentiation x" — x" ' of an expression of the form Ax ' or Bx*so x™' — x7 or
x> X (k * 1) and not just C — 0. Differentiating top and bottom separately is MO.
Note this is a hence and so attempts at e.g. use of the quotient rule scores M0.
Al: cao and cso (May be un-simplified)
Note: An incorrect constant in part (a) (e.g. 3 instead of 9) will fortuitously give the same derivative so
scores M1AU0 if otherwise correct.

() B1: 25 only

M1: Substitute x = 4 into their derived function

M1: Uses their “25” and their “gradient” which has come from calculus (not the normal gradient) and
x =4 to give correct ft equation of line. If using y = mx + ¢ must at least obtain a value for ¢

Al: any correct form e.g.

y:—§x+35, 5x4+2y-70=0
BUT NOT JUST 2= 245 - —%, this scores M1A0
.

Note: An incorrect constant in part (a) (e.g. 3 instead of 9) will fortuitously give the correct answer in
(c) and will lose the final A mark if otherwise correct.
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13. The equation k(3x2 + 8x + 9) = 2 — 6x, where k is a real constant, has no real roots.
(a) Show that £ satisfies the inequality
112 -30k-9 >0
4
(b) Find the range of possible values for £.
“4)
. 4
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Number Marks
13(a) 5 s
3kx” + 8k +6)x +9k —2=0 or 3kx” + 8kx+6x+9% —-2=0 Bl
Uses b* — 4ac with a =3k, b =8k+6 and c =9k +2 M1
—44k> +120k+36<0 or  36<44k>—120k o.e. Al
Reached with no errors
11k -30k—-9>0* Al*
[4]
(b) Attempts to solve 11k —30k —9 =0 to give k= M1
= Critical values, k& =3, —% Al
3
k>3(or)k<—ﬁ M1 Alcao
[4]
8 marks
Notes
(a) B1: Multiplies by & and collects terms to one side in any order. Allow the x terms not to be combined and
the ‘=0’ may be implied by use of a correct discriminant.
MI1: Attempts b* — 4ac with a =3k, b =8k +6 and ¢ =9k +2 or uses quadratic formula with b — 4ac
seen to solve their equation or uses b* = 4ac ore.g. b><4ac. There must be no X’s.
Al: Obtains a correct three term quadratic inequality that is not the printed answer with no errors seen.
Al: Correct answer with no errors
(b) M1: Uses factorisation, formula, or completion of square method to find two values for 4 or finds two

correct answers with no obvious method for the given three term quadratic
Al: Obtains k =3, —% accept awrt - 0.272

M1: Chooses outside region (k < Their Lower Limit & >Their Upper Limit ) for a 3 term quadratic

inequality. Do not award simply for diagram or table.

Al: k>3(or) k< _3 must be exact here but allow — 0.27 for _3 .
11 11
Allow other notation such as (—oo,—l—?)lj ) (3,00)

k>3 and k<—i and

—i>k>3 score M1AO
11 11

ISW if possible e.g. k>3, k< —% followed by —1—31 >k >3 can score M1Al

k>3, k> —% followed by & >3(or) k < —% can score M1A1

Allow (b) to be solved in terms of x for the first 3 marks but the final A mark needs the regions in terms of £.
Fully correct answer with no working scores full marks.
Answers that are otherwise correct but use <, > lose final mark.
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14. (i) Given that

log x+log 3=1log 27— 1, where a is a positive constant

for x in terms of a.

, dn exXpression

ts simplest form

,ini

find

C))

C))

=0

(log;y)* — 7(log, y) + 12
showing each step of your working.

(i1) Solve the equation

9
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Number Marks
14(i 3
® log, x+log,3=log, 27-1 so loga%=—l
27
Or log, x+log,3=1log, 27—-log,a so log,3x=1log, — M1 Al
a
Or log, x+1=1log, 27—-log,3=10g,9 so log,6 ax=1log, 9
3x
~_ua M1
27
9
x=9a" or = Al
a
[4]
(ii) x> —7x+12 =0 and attempt to solve to give x = ... or log, y = ... (implied by correct M1
answers)
x (or log;y)= 3 and 4 Al
y=5or 5 dM1
y =125 and 625 Al
[4]
8 marks
Notes
(>i) M1: Uses sum or difference of logs correctly e.g.
27
log x +log3 =1log3x or log27—-log3=1og9 or log27—logx =log—etc.
X
or writes 1 as log_ a
A1: Uses two rules correctly to obtain correct log equation
M1: Removes logs correctly to obtain an equation connecting x and a
Al: Correct simplified answer
Note that some candidates interpret log, 27 -1 as log, (27 - 1) . This can score a maximum of 1 out of 4 if
they have log x+log3 =log3x
log_3 3
Note that log, x +log, 3=1log, 271 so 98 2Y _ 1= 22— 47" etc. scores MTAOMOAD
log, 27 27
1 log 3
Note that log, x +log, 3 =1log, 27 -1 08,108, 2 _ 12X _ 4 ete. scores no marks
log, 27 27
(ii) M1: Recognise and attempt to solve quadratic

Al: Obtain both 3 and 4 (Both correct implies M1A1)
dM1: Uses powers correctly to find a value for y (Dependent on first method mark)
Al: Both values correct
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15. The points 4 and B have coordinates (—8, —8) and (12, 2) respectively.
AB is the diameter of a circle C.

(a) Find an equation for the circle C.

(6)

The point (4, 8) also lies on C.

, glving your

=0

the form ax + by + ¢

(b) Find an equation of the tangent to C at the point (4, 8)
answer in

C))

44
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15 @) Mid-point of 4B = (2, - 3) M1 Al
FYy=012-"2"" +(2-"-3")" or (r')=(-8-"2") +(-8-"=3"" or (d’)=(-8-12)" +(-8-2)° Ml
r* =125 Al
"125"2(Xi'"2")2 + (yi"—3")2 Ml
125=(x=2) +(y+3)° Al
[6]
b _n_n2n
®) gradient from "(2, —3)"to (4, 8) = 8 3 , | = 1 M1
4 _n 2 n 2
. 1 2
ZM has gradient —— =—— M1
m 11
Either: y—8="-2"(x-4) or: y="-3"x+c and 8="-2"(4)+c = c="8&" ddM1
2x+ 11y—-96=0 Al
[4]
(10marks)
Notes
(a) M1: Uses midpoint formula, or implied by y coordinate of -3 or x coordinate of 2
Al: cao
M1: Finds radius or radius®, diameter or diameter® using any valid method — probably distance from centre
to one of the points. Need not state r =... so ignore lhs — you are just looking for correct use of
Pythagoras with or without the square root so ignore how they reference it for this mark.
Al: for any equivalent 7> =125 or » =,/125 (11.18...) etc. Their numeric answer must be identified here as
either 7 or * (may be implied by their equation). If they halve it or double it, this is M1 AO.
M1: Attempt to use a true equation for circle with their centre and radius or the letter 7, allow sign slips in
brackets but do not allow use or  instead of 7 in the equation.
So must be using »* =(x*...)> + (y=£...)?
Al: correct answer only (Allow (5\/5 )2 instead of 125 but not 5+/5 2)
(b) M1: States or uses gradient equation correctly with their centre and (4, 8). Must be using their centre and

(4, 8). If no method is shown and gradient incorrect for their values score MO.

M1: Finds negative reciprocal. Follow through their gradient

ddM1: Correct straight line method with (4, 8) and perpendicular gradient. Dependent on both previous
method marks having been scored.

Al: cao — accept multiples of this equation (Note integer coefficients not required)

A common error here is to use the diameter to find the gradient. This usually scores MOM1ddMOADO i.e.
just one mark for the perpendicular gradient rule.

(b) Alternative uses implicit differentiation: e.g.
125=(x-2 " +(y+3) =2(x-2)+2(y + 3)% =0 Ml (correctimplicit differentiation) oe
2-4

= —— MI(Substitution)
8+3

d_y B 2—x
dx y+3
Then follow the scheme.
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Figure 2

. . . . 1 . .
The straight line / with equation y = Ex + 1 cuts the curve C, with equation

>
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y =x2—4x + 3, at the points P and Q, as shown in Figure 2
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(a) Use algebra to find the coordinates of the points P and Q.
)

The curve C crosses the x-axis at the points 7 and S.

(b) Write down the coordinates of the points 7" and S.
(2)

The finite region R is shown shaded in Figure 2. This region R is bounded
by the line segment PQ, the line segment 75, and the arcs P7 and SQ of the
curve.

(c) Use integration to find the exact area of the shaded region R.
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16(a) Ix+1=x>—4x+3 M1
2x* —9x+4=0=> x=Y% orx =4 dM1 Al
y=5/4 ory=3 dM1 Al
[5]
(b) Curve meets x-axis at x=3 and at x = 1 (No need to see y = 0) M1 Al
[2]
NOTE that the subscripted A’s refer to areas on the diagram given at the end of the
scheme.
All the method marks are for their x=1/2,4,1 and 3
(C) J‘ 2 _ _ 1,3 _ 2
Way 1 X —4x+3dx=5x" —2x" +3x Ml Al
Use limits 1 and % [ (1)’ =2(1)* +3x) - (2 (Z)’ -2.)* +3x3))] 4, M1
Use limits 4 and 3 [(2(4)’ —2(4)* +3x(4) - (3(3)’ =2.3)* +3x(3))] 4, M1
Area of trapezium =
4
La+b)xh=1(E+3)x(4-1)=... or j(%x+1)dx=[%x2 +x]i =4+ -(E+hH=.. Ml
74375 (7%) (%) (may be implied by correct final answer) Al
Uses correct combination of correct areas. Area of region = Area of trapezium - A4 — 4, ddddM1
Dependent on all previous method marks
=74375-%L—-3=3 or35.8125 Al
[&]
© Alternative method using “line — curve” and subtracting area below x- axis
Way 2 i i
J.—x2 +%x—2dx=—7+%x2 —2x or J.x2 —2x+2dx =T—%x2 +2x MI1A1
Use limits /2 and 4 on this subtracted integration (A4, + A, + A, + 4;) = 62+2=_. M1
ijx2—4x+3dx=i(§x3 —2x? +3x) M1
Use limits 1 and 3 on their integrated curve to obtain 4, = £ 4 MI1A1
Uses correct combination of correct areas. Area of region = (4, + 4, + 4 + 4 ) — 4, ddddM1
Dependent on all previous method marks
0i+i-i-% Al
(8]
() Alternative method using “line — curve” for areas 43 and 44 and adding smaller trapezium
Way 3 2 ’ 2 2 x’ 2
j—x +2x—2dx=——++7x"—-2x or Ix —%x+2dx=7—%x +2x MI1A1
Use limits 1 and % [(—1(1)’ +2(1)* =2x1) = (-3(2)* +2(3)* -2x1] 4, M1
Use limits 4 and 3 [(—1(4)’ +2(4)’ —2x4)—(-1(3)’ +2(3)* —2x3] 4, M1
Area of trapezium =
3
Ha+b)xh=1CG+3)xG3-1)=... or J‘(%x+1)dx=[%x2 tx] =@+3) - +D=.. Mi
1
=4 Al
Uses correct combination of correct areas. Area of region = A4, + 4, + 4, ddddM1
Dependent on all previous method marks
Brhed=g Al

[8]
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(c) Alternative method: Finds area of larger trapezium and subtracts A;+ A; which is found
Way 4 by integrating quadratic between %2 and 4 and adding area below X-axis
J‘x2—4x+3dx=%x3—2x2+3x M1 Al
Use limits 4 and %5 [(3(4)’ —2(4)* +3x4)—(3(3)’ =2.3)* +3x ()] 4, +4, - 4, "
AND Use limits 3 and 1 £[(3(3)’ —2(3)* +3x3)— (1 (1)’ =2.()* +3x(1))] £4,
Area of trapezium =
4
L@+b)xh=1(E+3)x(4-1)=_.. or J‘(%x+1)dx:[%x2 tx] =@+ -G+ = Ml
74375  (7%) (may be implied by correct final answer) Al
Uses correct combination of correct areas. Area of region =7.4375—( A4, + 4, — 4; + 4;) ddddM1
Dependent on all previous method marks
=7.4375—(%+§)=% Al
16
[&]
15 marks
Notes
(a) M1: Puts equations equal or finds x in terms of y and substitutes or substitutes for x
dM1: Solves three term quadratic in x to obtain x = ... or in y to obtain y = ... (Dependent on first M)
Al: Both answers correct
dM1: Obtains at least one value for y or x (Dependent on first M)
Al: Both correct
1
Note: Allow candidates to obtain x° —%x +2=0and solve as (2x — 1)(x — 4) =0=x= 5,4
The coordinates do not need to be ‘paired’
(b) M1: Attempts to solve 0 = x* —4x + 3 according to the usual rules
Al: cao
Attempts by T&I can score both marks for x = 1 and x = 3. If one solution is obtained by this, score M1AQ
For (c) do not allow ‘mixed’ methods. For their strategy, they must be finding the appropriate areas
but apply the method for the scheme that gives the most credit for the candidate.
VV(C) ) M1: Attempt at integration of the given quadratic expression (x” — x"" atleast once)
a
y Al: Correct integration of the given quadratic expression
M1: Finds area of 4,
M1: Finds area of 4>
M1: Finds area of appropriate trapezium
A1: Correct area of trapezium 7.4375 (7%)
ddddM1: correct final combination
Al: any correct form of this exact answer
VV(C) s M1: Attempt at integration of =(the given quadratic expression — the given line) (x" — x"* atleast once)
ay

Al: Correct integration as shown in the mark scheme. Allow correct answer even if terms not collected nor
simplified. If there are sign errors when subtracting before valid attempt at integration, score M1A0

M1: Uses the limits '% and 4 on their subtracted integration

M1: Attempts to integrate curve

M1: Uses the limits 1 and 3 on the integrated curve C

Al: Obtains 4, ==* 4

ddddM1: correct final combination
Al: any correct form of this exact answer
Note: A common error with this method is to use the limits 2 and 4 on their subtracted integration and then

stop (this should give an area of %). This will usually score 3/8 in (c)




Winter 2016

www.mystudybro.com Mathematics C12

Past Paper (Mark Scheme) This resource was created and owned by Pearson Edexcel WMAO1
VV(C) 3 M1: Attempt at integration of +(the given quadratic expression — the given line) (x" — x"" atleast once)
ay . . . .
Al: Correct integration as shown in the mark scheme. Allow correct answer even if terms not collected nor
simplified. If there are sign errors when subtracting before valid attempt at integration, score M1A0
M1: Uses the limits % and 1 on their subtracted integration
M1: Uses the limits 4 and 3 on their subtracted integration
M1: Finds area of appropriate trapezium
Al: Correct area of trapezium 4
ddddM1: correct final combination
Al: any correct form of this exact answer
VV(C) 4 M1: Attempt at integration of the given quadratic expression (x” — x"* atleast once)
ay

Al: Correct integration of the given quadratic expression

M2: Finds area of 4, + 4, — A, by using the limits /2 and 4 and finds area of 4 by using the limits 1 and 3
M1: Finds area of appropriate trapezium

A1: Correct area of trapezium 7.4375 (7%)

ddddM1: correct final combination
Al: any correct form of this exact answer

Diagram for Question 16

1,2 _17
(L 5 ( 2) 4—12
2\
1
/ 348
A5:4
4
_ 7 A =—
SRS >3 .
1 1 L4 3 4
3




